so0ne NLCT

. PUSH SF1] [22]-0f 5 Al 2 d &P
‘&Fl Menu (Operating Mode) 28 2 = 3’%‘ ST (22 =7 0
\
v
[gx] o) g I &F1] [320145E]-=740
O~ T Zal]-= o
Dl;:la’y I::mge ﬁ Range scaling ﬁ dcur’n‘\l‘p\m\tc ﬁ Input’f:l’:::" @ % {g;%,ag[ﬁ%
Next-menu H-Txt: 007 H-Txt: 006 H-Txt: 010 @ [gg‘\ ]—d&*(i’xﬁ@ )xng
&3 SFIX0—  F3|X02 $F3X01——
DAE/ALE HIEE 2 =&(0~3) Z2HEE
\ (e o) X02 &= 0(0FF)~100(24=8))
¥ _
=Y} Tl [TY] Fi] [3X0| &+ 2]-2 78
Dt . T O 22Ul AR d &P
D:s‘pl;;'Hl'gL 2] Display Low F2) High limit 2] Lz:\:/'litlzil' $F2} %%aa‘}ﬂgﬁﬁﬁ
H-Txt: 005 I H-Txt: 004 I H-Txt: 009 H-Txt: 008 SF3] [22]-M 9 (2B 2 )X01 &
$F3|X01 $F3|X01l &3 $F3
HAIH el akst HAIH LI5S HAl&SHRIS HAIGHSHHISF
0l: 100.0 ol: 0.0 0l: 110.0 0l: -10.0
PUSH (&F2]+ & F3
Tare weight compensation
[=|
27| 2AH 2™
Setting Mode (& 2E) HOT-key
Press, hold (F1+F3) >3 seconds ||&E0Menu  »x 910t ZRELIC)
PUSH M"'@ ® (F1 + F4) SAI3=0|& $F2version | Needs attention. ]
L E Ent CODE b &3] display alternately(nor./count/res....)
©) _]ncel‘;H ek num_weér &FI+F3] CODE Number
CODE Number DE He YAX01EX) @FZEF3) RESET(count, peak-hold)
oot (3 $F3] 22! - CODE pisal®
Executable CODE (Setup setting) &g (e U=
CODE Description (000) A ( cancel )
330  |Display Filter(0:0ff~100) (330)2E (EAI(Ad), ERXH 28(Vr))
331 |Rated Output from strain gauge(0.1 ~ 10.0 mV/V) (331) 24 ==5wI=)E™ Of: 1.0mv / V)
. —— $F1(Hold)>3sec. | (330)2E (BE)&F SF1] [3R0| &+ E]-= X058 =
330 (Filter) 82 & & [ X05(Exit) | | &F1[3z0/a+]-=7x05ax SED[SH]-CIS0H= i
F3] [22!]-48 (2t )X01E X
,_';v [x] e ] o) oo !') [x] o) oL O~ ‘

- ) L
[N =) —31 IO |0 == [N =] ’u 1 —=1 [l [ —= O Lo
Filter VR F2 > Fiier input F 2 Fitier npu F2g* it input F2 5 ier mput F2 2 Fiter mput F2
H-Txt: 011 H-Txt: 010 H-Txt: 012 H-Txt: 015 H-Txt: 016 H-Txt: 017
&F3 $F3|X0]] F3|[X01 & 3|01 &F3 &F3
.
=8

(712 :1000) AT E (1) (LI Z>)P2L AT E (1) (%‘254%'14%(0.010) (EAIHS)ZES
(0(off)-9999)8  (1(0FF)~100) & ?g%;%%%gg?ol . (I(OFF)~100)2 & (0.001~9.999) &  dCut 2t OIS 1&
242 =8 2+ =8 ~0.000)8"  2r='=8 RSLr=NU(SE)  (-9999 ~ Low- e
FEr=xa(£8) h (=8 Lo ) X—(«L)OLI4 Ft}{:‘l}le
2F MX (2 2
331 (S G VIV)  [Rme) (891 254 2ay a3 Lot
(Strain Gauge : m ) SFT) [3ZO0I458] - 27 X058 X -1999~+9999
P ) ’C'jf 1T
J o - R — $FT 32014+ B |-= X058 = <% Change the LOAD C%LL ) Yl (
St Strain gaug = IneTne . input range in ( CODE 331
R et 014 = =-0a (@H3)01es (Strain Gauge (WV/V) &= 3 s21) ‘ S F 1] N Pisit
F3|[X01] SF3X0—! Excitation Voltage (input or output) @E Inc. Value
mv/V e Excitation Voltage (V)2 & F2 Bl
E)?‘.WZB(;O.(\)/m\/)S’SW% &3‘7(}%\/\)/557%% Set END
:2.00m :10. et
Help text in display (H-txt: 000) +F3|255e
[[001][----] Enter Setup (see the CODE(Execution)table) X02 (D.P
[004][dSP.L] Set display range low(display readout low) = =
[005][dSP.H] Set display range high(display readout high) L2843
[006][dP] Set the decimal point position to a number (0 ~ 3) 0~3
[007][oFFt] Display range scaling for deviation correction @ ljl 0

Low value calibration is less than 40% of displayed
High value calibration is more than 60% of displayed 0.0
Offset clear at display 50% 0.00

[008][oVr.L] Set lower limit of display value. 3
[009] [oVr.H] Set upper limit of display value. 0.000

[011][FL.Vr] Set VR(zs) filter(10~9999) It is similar to the input average(def:100) X05 (EX‘it)_
[010][AvG][FL.Ad] Set input 1st filter(1(off) ~100) It is similar to the input average(def: 1) TEREE]]
[012][FL.Pb] Input filter(0.001~9.999) Allowable fluctuation value(def:0.05)

[015][FL.An] Set input 2st filter(1(off) ~100) It is similar to the input average(def: 1) gEF 1
[016][FL.ot] O}ltput fi.lte.r(O. 001~9.999) Allowable fluc.tu'fltion value(def:0.05) Press&hold>3sec.
[017][d.Cut] Display limit (-9999 ~ Low-range value) Limit below “d.Cut” 3X0/A =

[013] Rated output from Strain gauge (0.1 ~10.0 mV/V) Y
[014] Cell excitation voltage (3V ~15V) DISPLAY (3 A])
SHHE I
SAVE & RUN (MAIN
NE 2 =
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NLCT

Output Type (OUTPUT-1, 2) Setting CODE number (CODE H15) -AEE GODE M1 (0000) F4 ( cancel )
T DE Ran
N co e 200 | Output Type & Output range (mA, V) [ OUTPUT-1,2 ]|-(200) ==152 2 &9l 2= (0:4.00-20.00)
put 1yp g
Unspecified | OFF 0 None (815)
DC current | 20 mA 1 4~20mA 210 Display range to output [ OUTPUT-1, 2 ] -(210) Z28 ZAIHS X (01:0.0~100.0)
(BF=4) | 20mA| 2 0~20mA (std) —
5V B -5V 220 Frequency Output (Cut-off , Linearity ) (220) FUt EEA &3
5V 4 0~5 V 230 Linear-Output slope setting (1~10) (230) &= JI221 SF(20 10 steps)
DC voltage | 10V 5 2~10V
(Mg&EE) | 10V 6 0~10V 800 | Calibration Analog output [OUTPUT-1 (0~20mA -(800) E2{(1) ME (0%(OmA)~100%(20mA))
g outp
BV | 7 545V — )
10V ) 10 ~ +10 V(std) 810 Calibration Analog output [OUTPUT-2 (0~20mA)] (810) &2 (2) W& (0%(0mA)~100%(20mA))
200 Output-Type & range (mA,V) = HosgL o $F1(Hold)>3sec.| (2005228 & o4z
Out]‘aut type and Output range in (mA, V) S =ET X05 (Exit) SFT] [3R0| A2 ]-= X052 X
v
- X SALH(N:51 T= 52)
Ll il N Ej o S OlAtL = 2 o Fo gl MREHe x2A 2 Ul
Output(1) Type F1 Output(1) High F1 &EQ [:iiolg'r@a];%;w%pi [Voltage and current output are detsrmmed when ordering]
H-Txt: 050 H-Txt: 051 &F1] [22]-CIS0% o BOA EZ &202 8% =
_ - EENEENERC ] PN =
&F3| ==(1) &F3 ==(2) &3 (22 )Xol {1t is set to standard output at the factory]
SET (Output Mode CODE) SET (Output Mode CODE)
Z=21235 CODE Bia A& Z=21235 CODE tio A&
CODE:0~8 CODE 0 8
X01 (Set Value) X01& &= X01 (Set Value) X01& &=
i . )
o400 °0.00 040D 2000 T e CODE &30~ 8 X
Guipat D) Low|SnF 1] Out:mt(l)H‘ F1l  Gupui) Low S F I Toupus) nignemEl] £ 91 & F (0i:4.00mA~20.00mA) X01& =
H-Txt: 056 H-Txt: 057 H-Txt: 058 H-Txt: 059
224 (1)516H & A Xi’(w)@@géz = (2)otet &y EH(2)YLY
0fl: 4.00 mA 0z 20.00 mA Ofl: 4.00 mA 0fl: 20.00 mA
TAIZO E2atuesx
210 (Dlsplav range to OlltDllt) TAIX|O =2stee .@mFl(HOld)?SScc, (ZWO)AAJMZ\“%; a::\ w()Oj\ 0.0~100.0)
Dlsnlav value for output range X05 (Exit) &F1) [3201 48 ]-=71X068 =
V
ol Lo A ] Fi | *+»&H 2 =2 [Range output] |
D.Val— Ol. Low D.Val — O1.High = i -
H-Txt: 052 H-Txt: 053 H-Txt: 054 % %SETP“O]‘%}ETEDD{]‘ Lg?|XO5 =
&F3|X01 &F3|X01 &F3|X01 ®F3] [22]-A 8 (A2 )N0IBE
DA 843 DA 843 TN 83
=3(1 )0}0}0{\5% g s"()yENxEs £2(2)s8HNEE
0f: 0.0 % 0l 100.0 % G: 0.0 %
220 Frequency Output (Cut-off, Linearity ) =1 A =24 »x |$Fi(Hold)>3scc.| (2071 =545 )
Frequency output control = < | [ X05(Exit) &1 [3X 014+ S]-= X058 X
L2
'l [ )
[N ~4YI~ [N HF1] [3X0| 4+ E]-SRX05E X
Cut-off F-output F1] DVul**()l.ngh@ SFT [%E]{r%m\;
e — L &F7 [22]-H (2B B)X01EE
$F2JX01 SF2JX01——
F-output Cut-OFF Linear step & &
OIGt=T == 0% %E‘XMV‘O\(%)
2 38 _,. Ol:0.05%
Oil - 5 OO (5Hz0l5tH)
230 Output-Slope (Linear setting) =2 L0 &F $F1(Hold)>3sec. | (230)==2lLi0j2
Out;‘)utlmear setting (step 0~10) == X05 (Exit) $FT] [3X 0/ AL E]-= X058 =
v
v R B [ ZALT (0B L= F22)
DO ) L0
Output(1) slop ﬁ Output(1) slop m
H-Txt: 050 H-Txt: 051 SF1] [22]-CHE0 %
@ =2(1) @ =21(2) $F3] [S2]- M (B E )X R X
v
SEEP
Guiput(0. DsTope] TE 1} XO01 (Set Value)
BTt 091 EICREE))
$F3] =2 0120 STEP H44F (20 10) $F1] [3EO0I M4 FE]-SPIX05E =
-1999~+9999
sEmD Tl SPOE spog | | v
)t ) S ) e = = - o X =) 2 ~
slope-step 1 ﬁ slope-step 2 ﬁ slope-step 3 @ ﬁéggéog‘\sg ne3d lope-step 9 ﬁ slope-: s\ep 10 F3 { \‘0-:
H-Txt: 092 H-Txt: 092 H-Txt: 092 : H-Txt: 092 H-Txt: 092
Z22)|2J1(0)82E SAJS(NEH =AIISI(2)LEH £2)|2)|(8)8E  EHII2)1(9)&EF @ NextDlgl
il 00.00 V 0ff: 01.00 V 0l : 02.00 Oil: 09.00 V Ol 10.00 V ENSVE)]
Inc. Value
— - — - @E ol
800 (Calibration Output-1) =2i(1) | 810 (Calibration Output-2) =2(2)
Set END
Output 0% calibration Help text in display (H-txt: 000) @ Y e
[050] set Output-1 Type(mA,V)
4:;:4 ] £2 XF 0 %(0mA, 0V)  [051]set Output-2 Type(mA,V) 5
w -’L’ gP»,F]HIncrease Output value ST [22 ]—(gé{%%‘) [052] display value for output-1 Low (The output range is within display range) X05 (Exit
Output(l) Low| § ‘Fa[Decrease Output value]—— &I [22] (=22 [053] display value for output-1 High (The output range is within display range) Mol =
H-Txt: 060 &QF3 [22]-LFe2 [054] display value for output-2 Low (The output range is within display range)
F3 [055] display value for output-2 High (The output range is within display range) SRL]F 1
) . [056] output-1 Low Range in (mA or Voltage)
Output 100% calibration [057] output-1 High Range in (mA or Voltage) Press&hold>3sec.
* =2 XX 100%(20mA, 10V) [058] output-2 Low Range in (mA or Voltage) 3;0‘ g} _"—_%
):0'0'0 @ ,—l ERIREEED) [059] output-2 High Range in (mA or Voltage) =
U] ﬁ Increase Output value E&g {i;} (XaLH:I[ [060] calibration output LOW to process value 0% DQ—HPLAY 32
(:[‘f;f’xu“:(;gll'“bh $nF2][Decrease Output value]—— #13) [Z;] xﬁg; [061] calibration output HIGH to process value 100% CRME o
- < [091] number of gradient output steps(2~10 max.10)
&3 (Complete) [092] output slope settings (output range) SAVE & RUN (MAIN)
**Check output value with OM. (DMO 2 =gt =0l) Set slope-value(2~10) step0 to step1 to step 2,3,4,5,6,7,8,9 and step 10 HE L =A
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